
 
 
 

1. How many bones are there in human body? 
(1) 201 
(2) 203 
(3) 210 
(4) 206 ANS 

1. ekuo “kjhj esa fdruh gfì;k¡ gksrh gSa\ 

(1) 201 
(2) 203 
(3) 210 
(4) 206 

2. In between two Summer Olympic games there is a 
difference of .......... years: 
(1) 2 
(2) 3 
(3) 4 ANS 
(4) 6 

2. nks xzh’edkyhu vksyfEid [ksyksa ds e/; fdrus o’kks± dk vUrj gksrk gS\ 

(1) 2 
(2) 3 
(3) 4 
(4) 6 

3. The Opening and Closing ceremonies of Commonwealth 
Games 2010 had held at: 
(1) Jawaharlal Nehru Sports Complex ANS 
(2) Indira Gandhi Sports Complex 
(3) Siri Fort Sports Complex 
(4) Delhi University 

3. dkWeuosYFk [ksy 2010 dk mn~?kkVu ,oa lekiu lekjksg dgk¡ vk;ksftr 

fd;k x;k Fkk\ 

(1) tokgj yky usg: LiksVZl dkWEiysDl 

(2) bafnjk xk¡/kh LiksVZl dkWEiysDl 

(3) lhjh QksVZ LiksVZl dkWEiysDl 

(4) fnYyh fo”ofo|ky; 

4. During summer days, water kept in an Earthen pot 
(Pitcher) becomes cool because of phenomenon of: 
(1) Diffusion 
(2) Transpiration 
(3) Osmosis 
(4) Evaporation ANS 

4. xeÊ ds fnuksa ds nkSjku] feêh ds crZu esa jD[kk ikuh B.Mk gks tkrk gS 

fuEufyf[kr lao`fr ds dkj.k% 

(1) folj.k 

(2) ok’iksRltZu 

(3) vkWLeksfll 

(4) ok’ihdj.k 

5. Which one of the following is not a derived quantity: 
(1) Density (2) Mass ANS 
(3) Volume (4) Speed 

5. fuEufyf[kr esa ls dkSu&lk ,d O;qRié ifjek.k ugha gS% 

(1) ?kuRo (2) æO;eku 
(3) vk;ru (4) pky 

6. A candidate for election to the Rajya Sabha must be not 
less than: 
(1) 35 Years of age (2) 25 Years of age 
(3) 30 Years of age ANS (4) 40 Years of age 

6. jkT; lHkk ds pquko gsrq ,d vH;FkÊ dh vk;q fuEu ls de ugha gksuh 

pkfg,% 

(1) 35 o’kZ (2) 25 o’kZ 
(3) 30 o’kZ (4) 40 o’kZ 

7. Instrument for measuring humidity: 
(1) Hygrometer  ANS 
(2) Inclinometer 
(3) Hydrometer 
(4) Hydroscope 

7. vkæZrk dks ekius ds fy, midj.k ç;ksx fd;k tkrk gS% 

(1) gkbxzksehVj 

(2) bUDykbuksehVj 

(3) gkbMªksehVj 

(4) gkbMªksLdksi 

8. In which year the slogan ‘Quit India’ was given by 
Gandhiji: 
(1) 1940 (2) 1942 ANS 
(3) 1939 (4) 1938 

8. fdl o’kZ xk¡/kh th }kjk ^Hkkjr NksM+ks* dk ukjk fn;k x;k% 

(1) 1940 (2) 1942 
(3) 1939 (4) 1938 

9. Which among these is a credit rating agency: 
(1) ICRA ANS (2) SEBI 
(3) NSE (4) BSE 

9. buesa ls dkSu&lh lk[k&i= ds ewY;kadu dh laLFkk gS% 

(1) ICRA (2) SEBI 
(3) NSE (4) BSE 

10. A popular folk song of Uttar Pradesh is known as: 
(1) Maang (2) Kajri ANS 
(3) Baul (4) Boli 

10. mÙkj&izns”k dk ,d izfl) yksd xhr gS% 

(1) ek¡x (2) dtjh 
(3) cksy (4) cksyh 
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11. UNICEF has its headquarter in: 
(1) Washington (2) San Francisco 
(3) Geneva (4) NewYork ANS  

11. ;wuhlsQ dk eq[;ky; dgk¡ ij fLFkr gS% 

(1) okf”kaxVu (2) lSuÝkaflLdks 
(3) tsusok (4) U;w;kdZ 

12. A stone lying at the bottom of a pond appears to be at a 
higher point than it actually is due to the phenomena of: 
(1) Diffraction of light 
(2) Scattering of light 
(3) Reflection of light 
(4) Refraction of light ANS 

12. ,d rkykc ds ry esa iM+k gqvk ,d iRFkj ,d mPp fcUnq ij jD[kk 

gqvk çrhr gksrk gS tgk¡ ;g okLro esa gS] fdl lao`fr ds dkj.k gS% 

(1) çdk”k dk foorZu 

(2) çdk”k dk fc[kjko 

(3) çdk”k dk ijkorZu 

(4) çdk”k dk viorZu 

13. A stick immersed in water appears bent due to the 
phenomenon of: 
(1) Reflection of light 
(2) Diffraction of light 
(3) Refraction of light ANS 
(4) Dispersion of light 

13. ikuh esa MwcksbZ ,d NM+h fdl lao`fr ds dkj.k eqM+h gqbZ çrhr gksrh gS% 

(1) çdk”k dk ijkorZu 

(2) çdk”k dk foorZu 

(3) çdk”k dk viorZu 

(4) çdk”k dk çdh.kZ 

14. Williams sisters are known for the game: 
(1) Badminton 
(2) Table-Tennis 
(3) Tennis ANS 
(4) None of these 

14. fofy;el cgusa fuEu [ksy ds fy, tkuh tkrh gSa% 

(1) cSMfeaVu 

(2) Vscy&Vsful 

(3) Vsful 

(4) buesa ls dksbZ ugha 

15. The highest award in sports for a player in India is: 
(1) Dronacharya 
(2) Arjuna 
(3) Rajiv Gandhi Khel Ratna ANS 
(4) Padma-Shree 

15. f[kykM+h;ksa gsrq Hkkjr esa loksZPp [ksy iqjLdkj gSa 

(1) nzks.kkpk;Z 

(2) vtqZu 

(3) jktho xka/kh [ksy jRu 

(4) in~e Jh 

16. The official mascot of Olympic Games 2012 is: 
(1) Appu, the Elephant 
(2) Shera 
(3) Fuwa 
(4) Wenlock and Mandeville ANS 

16. vksyafid [ksy 2012 dk vf/kdkfjd “kqHkadj gSa% 

(1) vIiw gkFkh 

(2) “ksjk 

(3) Qqvk 

(4) osuykWd o eaMsfoy 

17. ELISA test is used to detect: 
(1) Malaria infection 
(2) Cholera infection  
(3) HIV infection  ANS 
(4) Lung infection 

17. ELISA ijh{k.k D;k irk yxkus ds fy, djrs gSa% 

(1) eysfj;k dk laØe.k 

(2) gSts dk laØe.k 

(3) ,p-vkbZ-oh- dk laØe.k 

(4) QsQM+s dk laØe.k 

18. How much would a 70 Kg man weigh on the moon? 
(1) 14 Kg 
(2) 114.1 newtons ANS 
(3) 421.67 Kg 
(4) 98.4 Newtons 

18. 70 fdxzk- Hkkj okys ,d O;fä dk Hkkj pk¡n ij D;k gksxk% 

(1) 14 fdxzk- 
(2) 114.1 U;wVu 
(3) 421.67 fdxzk- 
(4) 98.4 U;wVu 

19. Identify the river which rises from Tibet: 
(1) Chenab 
(2) Ravi 
(3) Beas 
(4) Indus ANS 

19. frCcr ls fudyus okyh unh dks igpkusa% 

(1) psuc 

(2) jkoh 

(3) C;kl 

(4) bUMl 



 

20. In history, the name of prince Khurram, came to be known as: 

(1) Jahangir 
(2) Shahjahan ANS 
(3) Aurangzeb 
(4) Akbar 

20. bfrgkl esa jktdqekj [kqjZe dks fdl uke ls tkuk tkrk gS% 

(1) tgk¡xhj 

(2) “kkgtgk¡ 

(3) vkSjaxtsc 

(4) vdcj 

21. The ore of Aluminum is called: 
(1) Bauxite ANS 
(2) Galena 
(3) Mica 
(4) Manganese 

21. ,Y;wfefu;e dh dPph /kkrq dks D;k dgrs gSa% 

(1) ckWDlkbV 

(2) xSysuk 

(3) ekbdk 

(4) eSaxuht 

22. National Highway no. 8 connects: 
(1) Delhi to Kolkata 
(2) Delhi to Mumbai ANS 
(3) Delhi to Lucknow 
(4) Delhi to Pakistan Border 

22. jk’Vªh; jktekxZ la[;k&8 tksM+rk gS% 

(1) fnYyh ls dksydkrk 

(2) fnYyh ls eqEcbZ 

(3) fnYyh ls y[kuÅ 

(4) fnYyh ls ikfdLrku lhek 

23. A clinical thermometer indicates temperatures in degree 
Fahrenheit from: 
(1) 94 To 108 ANS 
(2) 96 to 108 
(3) 94 to 110 
(4) 96 to 110 

23. ,d fpfdRldh; FkekZehVj fMxzh QkWjsugkbV esa rkiØe bafxr djrk gS% 

(1) 94 ls 108 rd 
(2) 96 ls 108 rd 
(3) 94 ls 110 rd 
(4) 96 ls 110 rd 

24. Sericulture is related to: 
(1) Cotton production 
(2) Wool production 
(3) Soil filtration 
(4) Silk production ANS 

24. lsjhdYpj lacfU/kr gS% 

(1) dikl mRiknu 

(2) Åu mRiknu 

(3) e`nk Nkuu 

(4) flYd mRiknu 

25. Which part of body is affected in typhoid: 
(1) Lungs (2) IntestinesANS 
(3) Liver (4) Pancreas 

25. fe;knh Toj esa “kjhj dk dkSu&lk fgLlk çHkkfor gksrk gS% 

(1) QsQM+k (2) vk¡r 

(3) ;Ñr (4) iDok”k; 

26. Attorney- General is appointed by: 
(1) The President ANS 
(2) The Chief Justice of Supreme Court 
(3) The Prime Minister 
(4) The Law Minister 

26. egkU;k;oknh dh fu;qfä fdlds }kjk dh tkrh gS% 

(1) jk’Vªifr 

(2) loksZPp U;k;ky; ds eq[; U;k;k/kh”k 

(3) iz/kkuea=h 

(4) fof/kea=h 

27. The real name of Humayun was: 
(1) Nasir-ud-din ANS 
(2) Sams-ud-din 
(3) Zahir-ud-din 
(4) Kamran 

27. gqek;wa dk okLrfod uke D;k Fkk% 

(1) ulh:íhu 

(2) le“kqfíu 

(3) tgh:fíu 

(4) dkejku 

28. The words ‘Satya Mev Jayete’ from Mundaka Upnishad 
are related to: 
(1) National Anthem of India 
(2) National Emblem of India ANS 
(3) National Song of India 
(4) None of these 

28. ^lR;eso&t;rs* “kCn tks eq.Md mifu’kn ls fy;k x;k gS] fuEufyf[kr esa 

ls fdlls lEcfU/kr gS% 

(1) Hkkjr dk jk’Vªxku 

(2) Hkkjr dk jk’Vª&fpUg 

(3) Hkkjr dk jk’Vªxhr 

(4) buesa ls dksbZ ugha 
 



 

29. Sachin Tendukar completed his 100th century in a 
recently held one-day international cricket match 
against Bangaladesh. Who was his companion batsman 
at the other end when this history was created? 
(1) Gautam Gambhir (2) Suresh RainaANS 
(3) Virat Kohli (4) Rohit Sharma 

29. vHkh gky gh esa lfpu rsUnqydj us ckaxykns”k ds fo:) ,d fnolh; 

vUrjkZ’Vªh; fØdsV eSp esa viuk 100ok¡ “krd iwjk fd;kA bl 

,sfrgkfld ekSds ij nwljs Nksj ij mudk lg;ksxh cYysckt dkSu Fkk% 

(1) xkSre xaHkhj 

(2) lqjs”k jSuk 

(3) fojkV dksgyh 

(4) jksfgr “kekZ 

30. How many assembly seats were won by Samajwadi 
party in the recently held Uttar Pradesh election: 
(1) 224 ANS 
(2) 226 
(3) 206 
(4) None of the above is correct 

30. vHkh gky gh esa vk;ksftr mÙkj çns”k pquko esa lektoknh ikVÊ dks 

fo/kku lHkk dh fdruh lhVksa ij fot; çkIr gqbZ% 

(1) 224 
(2) 226 
(3) 206 
(4) mijksä esa dksbZ Hkh lR; ugha 

31. Which one of the following teams won the final IPL 
recently: 
(1) Mumbai Indians 
(2) Chennai Super Kings 
(3) Royal Challengers Bangalore 
(4) Kolkata Knight Riders ANS 

31. vHkh gky gh esa fdl ny us IPL dk vfUre eqdkcyk thrk% 

(1) eqEcbZ bafM;Ul 

(2) psUuS lqij fdaXl 

(3) jkW;y pSysatlZ caxyw: 

(4) dksydkrk ukbZV jkbZMlZ 

32. The Indian Parliament consists of: 
(1) Lok Sabha, Rajya Sabha and the President ANS 
(2) Lok Sabha and Rajya Sabha 
(3) Lok Sabha and State assemblies 
(4) Lok Sabha only 

32. Hkkjrh; laln ds vax gSa% 

(1) yksd lHkk] jkT; lHkk ,oa jk’Vªifr 

(2) yksd lHkk ,oa jkT; lHkk 

(3) yksd lHkk ,oa jkT; fo/kku lHkk  

(4) dsoy yksd lHkk 

33. Who was the first Deputy Prime Minister of India: 
(1) Lal Bahadur Shastri 
(2) Chowdhary Devi Lal 
(3) Sardar Vallabh Bhai Patel ANS 
(4) Morarji Desai 

33. Hkkjr ds çFke miç/kkuea=h dkSu Fks% 

(1) yky cgknqj “kkL=h 

(2) pkS/kjh nsoh yky 

(3) ljnkj cYyHkHkkbZ iVsy 

(4) eksjkjth nslkbZ 

34. Hirakud dam has been built on the river: 
(1) Ganga 
(2) Mahanadi ANS 
(3) Brahmaputra 
(4) Kaveri 

34. ghjkdqM cka/k fdl unh ij cuk gS% 

(1) xaxk 

(2) egkunh 

(3) czãiq= 

(4) dkosjh 

35. Who gave the slogan ‘Jai Hind’: 
(1) Sardar Patel 
(2) Subhash Chandra Bose ANS 
(3) Jawahar Lal Nehru 
(4) Mahatma Gandhi 

35. ^t; fgUn* dk ukjk fdlus fn;k Fkk% 

(1) ljnkj iVsy 

(2) lqHkk’k pUæ cksl 

(3) tokgj yky usg: 

(4) egkRek xka/kh 

36. Who among the following was the first woman ruler of 
India: 
(1) Razia Sultan ANS (2) Chand Bibi  
(3) Nurjahan (4) Mumtaj Mahal 

36. fuEufyf[kr esa ls dkSu Hkkjr dh izFke efgyk “kkld Fkh% 

(1) jft+;k lqYrku (2) pk¡n chch 
(3) uwjtgk¡ (4) eqerkt egy 

37. Jama Masjid was built by: 
(1) Jehangir 
(2) Humayun 
(3) Shahjahan ANS 
(4) Aurangzeb  

37. tkek efLtn fdlus cuok;k% 

(1) tgkaxhj 

(2) gqek;w¡ 

(3) “kkgtgka 

(4) vkSjaxt+sc 



38. Full form of AIDS is: 
(1) Anti Immune Deficiency Syndrome 
(2) Auto Immune Deficiency Syndrome 
(3) Acquired Immuno Deficiency Syndrome ANS 
(4) Acquired Immuno Disease Symptoms 

38. ,M~l dk iwjk uke D;k gS% 

(1) ,UVh bE;wu fMQhlh,Ulh flUMªkse 

(2) vkVks bE;wu fMQhlh,Ulh flUMªkse 

(3) ,Dok;MZ ,E;wuks fMQhlh,Ulh flUMªkse 

(4) ,Dok;MZ ,E;wuks fMtht flEV~El 

39. Where is Rameshwaram: 
(1) Andhra pradesh 
(2) Tamil Nadu ANS 
(3) Gujarat 
(4) Jammu & Kashmir 

39. jkes”oje dgk¡ gS% 

(1) vkU/kz&çns”k 

(2) rfeyukMq 

(3) xqtjkr 

(4) tEew ,oa d”ehj 

40. What was the childhood name of Maharani Laxmi Bai of 
Jhansi: 
(1) Minni 
(2) Munni 
(3) Manu ANS 
(4) Monu 

40. >kalh  dh jkuh y{eh ckbZ dk cpiu dk uke D;k Fkk% 

(1) feUuh 

(2) eqUuh 

(3) euw 

(4) eksuw 

41. In case the President of India wishes to resign, to whom 
he is to address his resignation letter: 
(A) Vice President ANS. 
(B) Prime Minister 
(C) Chief Justice of India 
(D) Speaker of the Lok Sabha 

41. Hkkjr ds jk’Vªifr ;fn vius in ls R;kx&i= nsuk pkgrs gSa] rks og 

vius R;kx&i= dks fdls lEcksf/kr djsaxs% 

(A) mi&jk’Vªifr 
(B) ç/kkuea=h 
(C) Hkkjr ds eq[;&U;k;k/kh”k 
(D) yksd&lHkk dk lHkkifr 

42. Mithali Raj is known in the field of: 
(A) Cricket ANS. 
(B) Shooting 
(C) Wrestling 
(D) Archery 

42. feFkkyh jkt dks fdl {ks= esa tkuk tkrk gS% 

(A) fØdsV 
(B) “kwfVax 
(C) dq”rh 
(D) rhjankth 

43. Name the state of India through which tropic of cancer 
does not pass: 
(A) Rajasthan 
(B) Madhya Pradesh 
(C) Gujarat 
(D) Karnataka ANS. 

43. fuEufyf[kr esa ls Hkkjr ds ml jkT; dk uke crk,a tgk¡ ls ddZ js[kk 

ugha xqtjrh gS% 

(A) jktLFkku 
(B) e/;&çns”k 
(C) xqtjkr 
(D) dukZVd 

44. The Governor General who abolished the "Sati Pratha" 
was: 
(A) Lord Butler 
(B) Lord Hastings 
(C) Lord W. Bentinck ANS. 
(D) Lord Cornwallis 

44. lrh çFkk dk mUewyu djus okyk xoZuj tujy Fkk% 

(A) ykWMZ cVyj 
(B) ykWMZ gsfLaVXl 
(C) ykWMZ MCY;w- csfUVad 
(D) ykWMZ dkWuZokfyl 

45. In the freedom movement of India, the year 1930 is 
associated with the: 
(A) Dandi March ANS. 
(B) Jalianwala Tragedy 
(C) Partition of Bengal 
(D) Chauri-Chaura incident 

45. Hkkjr ds Lora=rk vkUnksyu esa o"kZ 1930 lEcfU/kr gS% 
(A) nkaMh ekpZ ls 
(B) tfy;k¡okyk dh nq%[kn ?kVuk ls 
(C) caxky ds foHkktu ls 
(D) pkSjh&pkSjk dk¡M ls 

46. Razia-Begam was the daughter of: 
(A) Ghias-ud-din Balban 
(B) Altamash ANS. 
(C) Qutub-ud-din Aibak 
(D) Mohammad Ghori 

46. jft+;k csxe fdldh iq=h Fkh% 

(A) X;klqíhu cycu 
(B) vYrek'k 

(C) dqrqcqíhu ,scd 
(D) eksgEen xkSjh 



47. Before being elected as President of India, Mrs. Pratibha 
Patil was the governor of: 
(A) Uttar Pradesh 
(B) Himachal Pradesh 
(C) Rajasthan ANS. 
(D) Punjab 

47. Hkkjr ds jk"Vªifr pqusa tkus ls iwoZ Jherh çfrHkk ikfVy fdl jkT; dh 

jkT;iky Fkh% 

(A) mÙkj&çns'k 
(B) fgekpy&çns'k 
(C) jktLFkku 
(D) iatkc 

48. The Ex-officio Chairman of Rajya sabha is: 
(A) Hamid Ansari ANS. 
(B) Pratibha Devi Singh Patil 
(C) A.P.J. Abdul Kalam 
(D) None of the above 

48. jkT;&lHkk ds insu v/;{k dkSu gSa% 

(A) gkfen vUlkjh 

(B) çfrHkk nsoh flag ikfVy 
(C) ,- ih- ts- vCnqy dyke 

(D) mi;qZä esa dksbZ ugha 

49. The Chemical name of laughing gas is: 
(A) Nitrous Oxide ANS. 
(B) Nitric Oxide 
(C) Nitrogen Oxide 
(D) Nitrogen Peroxide 

49. g¡lkus okys xSl dk jlk;fud uke gS% 

(A) ukbVªksvl vkWDlkbM 

(B) ukbZVªhd vkWDlkbM 

(C) ukbVªkstu vkWDlkbM 

(D) ukbVªkstu isjksDlkbM 

50. In which of the following states is Sariska Tiger 
Sanctuary located? 
(A) Uttar Pradesh 
(B) Rajasthan ANS. 
(C) Gujarat 
(D) Maharashtra 

 

50. fuEufyf[kr fdl jkT; esa lfjLdk VkbZxj vH;kj.k fLFkr gS\ 

(A) mÙkj&çns'k 
(B) jktLFkku 
(C) xqtjkr 
(D) egkjk"Vª 
 

 

51. What is the chemical name of Gyspum: 
(A) Iron sulphide 
(B) Calcium sulphate ANS. 
(C) Magnesium sulphate 
(D) Sodium sulphate 
 
 

 

51. ftIle dk jklk;fud uke gS% 

(A) ykSg lYQkbM 
(B) dSfY'k;e lYQsV 
(C) eSXuhf'k;e lYQsV 
(D) lksfM;e lYQsV 
 

 

 

52. Newton is a unit of: 
(A) Work 
(B) Energy 
(C) Force ANS. 
(D) Acceleration 

52. U;wVu fdldh bdkbZ gS% 

(A) dk;Z 
(B) ÅtkZ 

(C) cy 
(D) Roj.k 
 

53. The number of Upnishads is: 
(A) 100 
(B) 108 ANS. 
(C) 88 
(D) None of these 

53. mifu’knksa dh la[;k gS% 

(A) 100 
(B) 108 
(C) 88 
(D) buesa ls dksbZ ugha 

54. Who among the following adopted the title of 
Vikramaditya: 
(A) Chandra Gupta Maurya  
(B) Chandra Gupta I  
(C) Chandra Gupta II ANS. 
(D) Samudragupta 

54. fuEufyf[kr esa ls fdlus foØekfnR; dh mikf/k viukbZ% 

(A) pUæxqIr ekS;Z 
(B) pUæxqIr izFke 
(C) pUæxqIr f}rh; 
(D) leqæxqIr 

 



 

55. Seven separate States now popularly called the seven 
sisters lie in which part of India: 

(A) North Eastern ANS. 
(B) Southern 
(C) Western 
(D) Northern 

55. lkr i`Fkd jkT; tks lkr cguksa ds uke ls yksdfiz; gS] Hkkjr ds fdl 

Hkkx esa fLFkr gSa% 

(A) mÙkjh&iwohZ 
(B) nf{k.kh 
(C) if”peh 
(D) mÙkjh 

56. In the third battle of Panipat, the Marathas were defeated 
by: 
(A) Afghans ANS. 
(B) Rajputs  
(C) Mughals 
(D) Sikhs 

56. ikuhir dh rhljh yM+kbZ esa ejkBk fdlds }kjk ijkftr gq,% 

(A) vQxkuksa }kjk 

(B) jktiwrksa }kjk 
(C) eqxyksa }kjk 
(D) fl[kksa }kjk 

57. Under Right to Education Act, the children of which of the 
following age groups are eligible to get free education: 
(A) Upto 5 years 
(B) Between 6 & 10 years 
(C) Between 6 & 14 years ANS. 
(D) Between 8 & 12 years 

57. f”k{kk ds vf/kdkj vf/kfu;e ds vUrZxr fdl mez leqnk; ds cPps eq¶r 

f”k{kk ikus ds fy, vgZ gSa% 

(A) 5 o’kZ rd 
(B) 6 ls 10 o’kZ ds e/; 
(C) 6 ls 14 o’kZ ds e/; 
(D) 8 ls 12 o’kZ ds e/; 

58. The dreaded Cellular jail, now a national monument, is 
located in: 
(A) Gangtok 
(B) Andaman & Nicobar Islands ANS. 
(C) Daman & Diu 
(D) Lakshya Dweep 

58. Hka;dj lsY;qyj tsy] tks vc ,d jk’Vªh; Lekjd gS] dgk¡ fLFkr gS% 

(A) xSaxVkd 
(B) vUMeku ,oa fudksckj }hilewg 

(C) neu ,oa fn;q 
(D) y{k}hi 

59. Who will host 2016 Olympic games? 
(A) Tokyo 
(B) Madrid 
(C) Chicago 
(D) Brazil ANS. 

59. 2016 vksyfEid [ksyksa dh estckuh dkSu djsxk\ 

(A) VksD;ks 
(B) eSfMªM 
(C) f”kdkxks 
(D) czkt+hy 

60. After the transfer of power to British crown who was 
appointed the first viceroy of India: 
(A) Lord Ripen 
(B) Lord Canning 
(C) Lord Curzon ANS. 
(D) Lord Irwin 

60. fcVªh”k lkezkT; dks lÙkk gLrkarj.k ds mijkUr dkSu Hkkjr dk çFke 

okbZljk; fu;qä gqvk% 

(A) ykMZ fjiu 
(B) ykMZ dSfuax 
(C) ykMZ dtZu 
(D) ykMZ bjfou 

61. Tembhli became the first AADHAR village in India. The 
village is located in the state of: 
(A) Karnataka 
(B) Madhya Pradesh 
(C) Maharastra ANS. 
(D) Uttar Pradesh 

61. VsEHkyh Hkkjr dk igyk vk/kkj xk¡o cukA ;g xk¡o fdl jkT; esa fLFkr 

gS% 

(A) dukZVd 
(B) e/;&çns”k 
(C) egkjk’Vª 
(D) mÙkj&çns”k 

62. Which one of the following is the highest gallantry 
award: 
(A) Ashok Chakra 
(B) Mahavir Chakra 
(C) Param Vir Chakra ANS. 
(D) Kirti Chakra 

62. fuEu esa dkSu loksZPp ohjrk iqjLdkj gS% 

(A) v”kksd pØ 

(B) egkohj pØ 
(C) ije ohj pØ 
(D) dhfrZ pØ 

 



 

63. A ball thrown up falls down because of: 
(A) Speed due to gravity 
(B) Acceleration due to gravity ANS. 
(C) Momentum due to gravity 
(D) None of these 

63. Åij Qsadh x;h xsan uhps vk tkrh gS D;ksafd% 

(A) xq:Ro ds dkj.k pky ls 
(B) xq:Ro ds dkj.k Roj.k ls 
(C) xq:Ro ds dkj.k vkosx ls 

(D) buesa ls dksbZ ugha 

64. Ranjit Sagar Dam is located in the State of: 
(A) Himachal Pradesh 
(B) Jammu & Kashmir 
(C) Punjab ANS. 
(D) Haryana 

64. jathr lkxj ck¡/k fdl jkT; esa fLFkr gS% 

(A) fgekpy çns”k 
(B) tEew ,oa d”ehj 
(C) iatkc 
(D) gfj;k.kk 

65. Under which plan it was fixed to hand over power to 
India on 15th August, 1947: 
(A) Cabinet Mission Plan 
(B) Mountbatten Plan ANS. 
(C) Cripps Mission 
(D) None of the above 

65. fdl Iyku ds vUrxZr 15 vxLr] 1947 dks Hkkjr dks lÙkk gLrkarj.k 
djus ds fy, fu;r fd;k x;k% 

(A) dSchusV fe'ku Iyku 
(B) ekamV oSVu Iyku 
(C) fØIl fe'ku 
(D) buesa ls dksbZ ugha 

66. What is the chemical name of Gyspum: 
(A) Iron sulphide 
(B) Calcium sulphate ANS. 
(C) Magnesium sulphate 
(D) Sodium sulphate 

66. ftIle dk jklk;fud uke gS% 

(A) ykSg lYQkbM 
(B) dSfY'k;e lYQsV 
(C) eSXuhf'k;e lYQsV 
(D) lksfM;e lYQsV 

67. The Lok Sabha is called in session at least: 
(A) Once a year 
(B) Twice a year ANS. 
(C) Thrice a year 
(D) Four times a year 

67. yksd lHkk dk l= U;wure cqyk;k tkrk gS% 

(A) o’kZ esa ,d ckj 
(B) o’kZ esa nks ckj 
(C) o’kZ esa rhu ckj 
(D) o’kZ esa pkj ckj 

68. Indian Military Academy is situated in: 
(A) Khadakvasala 
(B) Pune 
(C) Dehradun ANS. 
(D) Kirkee 

68. Hkkjrh; lsuk vdkneh dgk¡ fLFkr gS% 

(A) [kMxoklyk 
(B) iq.ks 
(C) nsgjknwu 
(D) fdjdh 

69. Which month of the national calendar has one day extra 
in case of leap year: 
(A) Sravana 
(B) Pausa 
(C) Asvina 
(D) Chaitra ANS. 

69. vf/ko’kZ ¼yhio’kZ½ esa jk’Vªh; iapkax ds fdl eghus esa vfrfjä ,d fnu 

vkrk gS% 

(A) Jko.k 
(B) ikS’k 
(C) vkf”ou 

(D) pS= 

70. Which of the following cities has an atomic power plant: 
(A) Narora ANS. 
(B) Panipat 
(C) Wardha 
(D) Patna 

70. fuEufyf[kr esa ls fdl “kgj esa ,d v.kq”kfä la;a= gS% 

(A) ujkSjk 
(B) ikuhir 
(C) o/kkZ 
(D) iVuk 

71. Days and Nights are equal throughout the year at 
(A) Tropic of cancer 
(B) Tropic of Capricorn 
(C) Equator ANS. 
(D) Poles 

71. fnu vkSj jkr fdl ij iwjs o"kZ ,d leku gksrs gSa% 

(A) ddZ js[kk ij 
(B) edj js[kk ij 
(C) Hkwe/; js[kk ij 
(D) /kzqo ij 

 



 

72. Freezing point of water is same on these scales: 
(A) Centrigrade and Fahrenheit 
(B) Centrigrade and Reaumur ANS. 
(C) Centrigrade and Kelvin  
(D) Fahrenheit and Kelvin 

72. ty dk teko fcUnq fdu Ldsyksa ij leku gksrk gS% 

(A) lsUVhxzsM ,oa QkjsugkbV 
(B) lsUVhxzsM ,oa jhej 
(C) lsUVhxzsM ,oa dsyfou 
(D) QkjsugkbV ,oa dsyfou 

73. Deficiency of Vitamin A results in: 
(A) Loss of Appetite 
(B) Skin Diseases 
(C) Sterility 
(D) Night Blindness ANS. 

73. foVkfeu ^,* dh deh ls% 

(A) Hkw[k de gks tkrh gS 
(B) Ropk jksx gks tkrk gS 
(C) cka>iu gks tkrk gS 
(D) jrkSa/kh gks tkrh gS 

74. Which is not a root: 
(A) Potato ANS. 
(B) Carrot 
(C) Sweet Potato 
(D) Raddish 

74. dkSu tM+ ugha gS% 

(A) vkyw 

(B) xktj 
(C) “kdjdan 
(D) ewyh 

75. Nitrogen is available for plants in the form of: 
(A) Nitrogen gas 
(B) Nitrogen dioxide 
(C) Nitrate ANS. 
(D) Nitric acid 

75. ikS/kksa ds fy, ukbZVªkstu fdl :i esa miyC/k gksrk gS% 

(A) ukbZVªkstu xSl 
(B) ukbZVªkstu MkbZ&vkWDlkbM 

(C) ukbZVªsV 
(D) ukbZfVªd vEy 

76. The Constitution of India came into force on: 
(A) August 15, 1947 
(B) January 26, 1950 ANS. 
(C) November 26, 1949 
(D) January 26, 1942 

76. Hkkjrh; lafo/kku dcls ykxw gqvk% 

(A) 15 vxLr] 1947 
(B) 26 tuojh] 1950 
(C) 26 uoEcj] 1949 
(D) 26 tuojh] 1942 

77. Beri-Beri is caused by the lack of vitamin: 
(A) C 
(B) D 
(C) B1 ANS. 
(D) A 

77. csjh&csjh fdl foVkfeu dh deh ls gksrk gS% 

(A) lh 
(B) Mh 
(C) ch1 
(D) , 

78. The Council of Ministers of Indian Union is collectively 
responsible to the: 
(A) Rajya Sabha 
(B) Prime Minister 
(C) President 
(D) Lok Sabha ANS. 

78. Hkkjrh; la?k dk ea=h ifj"kn lkewfgd :i ls ftEesnkj gksrk gS% 

(A) jkT; lHkk ds fy, 
(B) ç/kku ea=h ds fy, 
(C) jk"Vªifr ds fy, 
(D) yksd lHkk ds fy, 

79. Which of the following mountains are not falling under 
Himalaya range: 
(A) Mount Everest 
(B) Kanchenjunga 
(C) Nanda Devi 
(D) Godwin Austin ANS. 

79. fgeky; foLrkj esa dkSu&lk ioZr f”k[kj ugha vkrk gS% 

(A) ekmUV ,ojsLV 
(B) daputaxk 
(C) uUnknsoh 
(D) xkMfou vkfLVu 

80. The disease rickets is caused by the deficiency of: 
(A) Vitamin –D ANS. 
(B) Vitamin –C 
(C) Vitamin –A 
(D) All of these 

80. fdl deh ds dkj.k lw[kk jksx gksrk gS% 

(A) foVkfeu&Mh 
(B) foVkfeu&lh 
(C) foVkfeu&, 
(D) mi;qZä lHkh 

 



 

81. How many bones are there in human body 
(A) 201 (B) 203 
(C) 210 (D) 206 ANS. 

81. ekuo “kjhj esa fdruh gfì;k¡ gksrh gSa\ 

(A) 201 (B) 203 
(C) 210 (D) 206 

82. Malaria is caused by the mosquito bite of: 
(A) Female Anopheles ANS. 
(B) Male Anopheles 
(C) Aedes aegypti male 
(D) None of these 

82. eysfj;k fuEu ePNj ds dkVus ls gksrk gSa% 

(A) eknk ,uksfQ+yhl 
(B) uj ,uksfQ+yhl 
(C) uj ,Mhl v,ftIVh 

(D) buesa ls dksbZ ugha 

83. In human body unoxygenated blood is purified by: 
(A) Lungs ANS. (B) Heart 
(C) Kidney (D) Lever 

83. ekuo “kjhj esa vkWfDltu jfgr jä dgk¡ “kq) gksrk gSa 

(A) QsQM+ksa esa (B) ân; essa 
(C) xqnks± esa (D) ftx+j esa 

84. Williams sisters are known for the game: 
(A) Badminton (B) Table-Tennis 
(C) Tennis ANS. (D) None of these 

84. fofy;el cgusa fuEu [ksy ds fy, tkuh tkrh gSa% 

(A) cSMfeaVu (B) Vscy&Vsful 
(C) Vsful (D) buesa ls dksbZ ugha 

85. The highest award in sports for a player in India is: 
(A) Dronacharya 
(B) Arjuna 
(C) Rajiv Gandhi Khel Ratna ANS. 
(D) Padma-Shree 

85. f[kykM+h;ksa gsrq Hkkjr esa loksZPp [ksy iqjLdkj gSa 

(A) nzks.kkpk;Z 
(B) vtqZu 

(C) jktho xka/kh [ksy jRu 
(D) in~e Jh 

86. The official mascot of Common Wealth Games 2010  
(A) Appu, the Elephant 
(B) Wenlock and Mandeville 
(C) Fuwa 
(D) Shera ANS. 

86. dkWeu osYFk [ksy 2010 dk vf/kdkfjd “kqHkadj gSa 

(A) vIiw gkFkh 

(B) osuykWd o eaMsfoy 
(C) Qqvk 

(D) “ksjk 

87. In IPL Sachin Tendulkar is member of: 
(A) Chennai Super Kings 
(B) Mumbai Indians ANS. 
(C) Royal Challengers Bangalore 
(D) Kolkata Knight Riders 

87. vkbZ-ih-,y- esa lfpu rsUnqydj ----- Vhe ds lnL; gSa 

(A) psUuS lqij fdaXl 
(B) eqEcbZ bafM;Ul 
(C) jkW;y pSysatlZ caxyw: 
(D) dksydkrk ukbZV jkbZMlZ 

88. Which part of food gives us energy to work? 
(A) Minerals 
(B) Protein 
(C) Carbohydrates ANS. 
(D) Vitamins 

88. Hkkstu dk dkSu lk Hkkx gesa dk;Z djus dh “kfä Ánku djrk gSa\ 

(A) [kfut rRo 
(B) ÁksVhu 
(C) dkcksZgkbMªsVl 
(D) foVkfeu 

89. Vitamins which are water soluble: 
(A) Vitamin A & B 
(B) Vitamin B & C ANS. 
(C) Vitamin K 
(D) Vitamin D 

89. ikuh esa ?kqyu”khy foVkfeu gSa% 

(A) foVkfeu , ,oa ch 
(B) foVkfeu ch ,oa lh 
(C) foVkfeu ds 
(D) foVkfeu Mh 

90. ELISA test is used to detect 
(A) Malaria infection 
(B) Cholera infection 
(C) HIV infection ANS. 
(D) Lung infection 

90. ,fylk ijh{k.k fuEu ds igpku gsrq gksrk gSa 

(A) eysfj;k laØe.k 
(B) gStk laØe.k 
(C) ,p vkbZ Ogh laØe.k 

(D) QsQM+ksa dk laØe.k 
 



 
 

91. Which of the following gases is present under pressure 
in soft drinks? 
(A) Oxygen 
(B) Nitrogen 
(C) Carbon Dioxide ANS. 
(D) Nitrous Oxide 

91. e`nq is; esa ncko ds vUrxZr dkSu&lh xSl fo|eku jgrh gS% 

(A) vkWDlhtu 

(B) ukbVªkstu 
(C) dkcZu&MkbZvkDlkbZM 

(D) ukbZVªksvl vkWDlkbM 

92. Which of the following blood group is universal 
recipient? 
(A) A (B) B 
(C) O (D) AB ANS. 

92. fuEufyf[kr esa ls dkSu&lk jä lewg loZxzkgh gS% 

(A) , (B) ch 
(C) vks (D) , ch 

93. Ankaleshwar in India is known for the production of: 
(A) Bauxite (B) Coal 
(C) Iron Ore (D) Petroleum ANS. 

93. Hkkjro"kZ esa vadys'oj dks fdlds mRiknu ds fy, tkuk tkrk gS% 

(A) ckWDlkbV (B) dks;yk 
(C) dPpk yksgk (D) isVªksfy;e 

94. The common refrigerant used in domestic refrigerator 
is: 
(A) Neon (B) Oxygen 
(C) Nitrogen (D) Freon ANS. 

94. ?kjsyw ç'khrdksa esa ç;qä lkekU; ç'khrd gS 

(A) uh;ksu (B) vkWDlhtu 

(C) ukbVªkstu (D) Ýhvku 

95. In which of the following states is Sariska Tiger 
Sanctuary located? 
(A) Uttar Pradesh 
(B) Rajasthan ANS. 
(C) Gujarat 
(D) Maharashtra 

95. fuEufyf[kr fdl jkT; esa lfjLdk VkbZxj vH;kj.k fLFkr gS\ 

(A) mÙkj&çns'k 
(B) jktLFkku 
(C) xqtjkr 
(D) egkjk"Vª 

96. Which of the following food items is rich in iron? 
(A) Rice 
(B) Apple 
(C) Pulses ANS. 
(D) Orange 

96. fuEufyf[kr esa ls fdl [kk| inkFkZ esa ykSg dh çpqjrk gS\ 

(A) pkoy 
(B) lsc 
(C) nygu 
(D) larjk 

97. Name the ore from which aluminium is extracted: 
(A) Isotherm 
(B) Aluminite 
(C) Bauxite ANS. 
(D) Isohel 

97. ml v;Ld dk uke crk, ftlls ,Y;wfefu;e fudkyk tkrk gS% 

(A) vkblksFkeZ 

(B) ,Y;wfeukbZV 
(C) ckWDlkbV 
(D) vkblksgsy 

98. The colour of star is an indication of: 
(A) Weight 
(B) Distance 
(C) Temperature ANS. 
(D) Size 

98. rkjks dk jax O;ä djrk gS mldk% 

(A) Hkkj 
(B) nwjh 
(C) rkieku 
(D) vkdkj 

99. India is a Union of States. Executive power of the Union 
is vested in the: 
(A) Prime Minister 
(B) President ANS. 
(C) Home Minister 
(D) Chief Justice 

99. Hkkjr jkT;ksa dk ,d la?k gSA la?k dh ç'kklfud 'kfä;k¡ fdlds vUnj 

fo|eku gSa% 

(A) ç/kkuea=h 
(B) jk"Vªifr 
(C) x`g ea=h 
(D) eq[; U;k;k/kh'k 

100. Which is the biggest epic: 
(A) Mahabharat ANS. 
(B) Ram Charit Manas 
(C) Bhagvad Gita 
(D) Asthadhyayi 

100. lcls cM+k egkdkO; dkSu&lk gS% 
(A) egkHkkjr 
(B) jkepfjrekul 
(C) Hkxon~xhrk 
(D) v’V/;k;h 

 



DIRECTIONS: In the following question, choose the alternative which can replace the word printed in bold and italic without changing 
the meaning of the sentence. 

101. A bone got stuck in his gullet: 

(A) Chest 
(B) Throat ANS. 
(C) Stomach 
(D) Molars 

DIRECTIONS: In the following question, choose the alternative which can replace the word printed in bold and italic without changing 
the meaning of the sentence. 

102. She has an insatiable love for music: 

(A) Unchanging 
(B) Unsatisfiable ANS. 
(C) Undesirable 
(D) Irreconcilable 

DIRECTIONS: In the following question, choose the alternative which can replace the word printed in bold and italic without changing 
the meaning of the sentence. 

103. When he returned he was accompanied by a sprightly young girl: 

(A) Lively ANS. (B) Beautiful 
(C) Sportive (D) Intelligent 

DIRECTIONS: In the following question, choose the alternative which can replace the word printed in bold and italic without changing 
the meaning of the sentence. 

104. The art movie I watched this evening has put me in a pensive mood: 

(A) Confused 
(B) Depressed 
(C) Cheerful 
(D) Reflective ANS. 

DIRECTIONS: In the following question, choose the alternative which can replace the word printed in bold and italic without changing 
the meaning of the sentence. 

105. Before finalizing this transaction, I had to sign an indemnity bond: 

(A) A partnership bond 
(B) A reparation bond 
(C) A compensation bond 
(D) A security bond ANS. 

DIRECTIONS: The following question is provided with the first and last parts of a sentences in bold letters. The remaining sentence is 
broken into four parts labeled P,Q,R and S. Arrange these parts so as to form a compete meaningful sentence. 

106. Those that have seen the Hindus: 
P. Have naturally no more doubt. 
Q. Of the existence of other persons. 
R. Among them in their own country 
S. Of their existence than they have 
Whom they have met 
(A) RPSQ 
(B) RQPS 
(C) PSQR ANS. 
(D) PSRQ 

DIRECTIONS: The following question is provided with the first and last parts of a sentences in bold letters. The remaining sentence is 
broken into four parts labeled P,Q,R and S. Arrange these parts so as to form a compete meaningful sentence. 

107. Gandhi wanted the Congress Party: 
P. For he knew that 
Q. Its usefulness and would merely be 



R. To be disbanded on independence 
S. After that the party had outlived 
Used by some politicians for their own ends. 

(A) RPSQ ANS. 
(B) SQPR 
(C) PSQR 
(D) QSPR 

DIRECTIONS: The following question is provided with the first and last parts of a sentences in bold letters. The remaining sentence is 
broken into four parts labeled P,Q,R and S. Arrange these parts so as to form a compete meaningful sentence. 

108. Nothing is more common than the idea: 
P. Of the twentieth century 
Q. In the western world 
R. The people living 
S. That we 
Are eminently same. 

(A) SPRQ 
(B) SRQP ANS. 
(C) PQRS 
(D) SPQR 

DIRECTIONS: The following question is provided with the first and last parts of a sentences in bold letters. The remaining sentence is 
broken into four parts labeled P,Q,R and S. Arrange these parts so as to form a compete meaningful sentence. 

109. The leader’s public meeting was disrupted: 
P. By a section of the audience 
Q. Any firm assurance 
R. He had not given them 
S. Who felt that 
For the solution of their problems. 

(A) RQPS 
(B) SRQP 
(C) PSRQ ANS. 
(D) QPSR 

DIRECTIONS: The following question is provided with the first and last parts of a sentences in bold letters. The remaining sentence is 
broken into four parts labeled P,Q,R and S. Arrange these parts so as to form a compete meaningful sentence. 

110. The code: 
P. Is normally put onto cards 
Q. That the computer understands 
R. Small holes are punched 
S. Through which 
In specially arranged patterns 

(A) SRQP 
(B) SRPQ 
(C) PQSR 
(D) QPSR ANS. 

DIRECTIONS: In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

111. A bull in a china shop: 
(A) A person who becomes too excited where no excitement is warranted 
(B) A person who is rough and clumsy where skill and care are required ANS. 
(C) A person who is very ugly but loves the beautiful things of life 
(D) A person who takes a sadistic delight in harming innocent people 

 



DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

112. To keep the wolf away from the door: 
(A) To keep alive 
(B) To hold the difficulties and dangers in check 
(C) To keep away from extreme poverty ANS. 
(D) To keep off an unwanted and undesirable person 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

113. Dog in the manger: 
(A) A person who puts himself in difficulties on account of other people. 
(B) A person who prevents others from enjoying something useless to himself. ANS. 
(C) An undersized bull almost the shape of a dog. 
(D) A dog that has no kennel of its own. 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

114. She was in a brown study and did not notice my entrance: 
(A) Sleep 
(B) Dream 
(C) Reverie (an act or state of absentminded day dreaming) ANS. 
(D) Fear 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

115. He was carried off his feet when he was declared to have won the prize: 
(A) Was dizzy 
(B) Was wild with excitement ANS. 
(C) Became delirious 
(D) Danced on his toes 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

116. In modern democratic societies Lynch law seems to have become a common feature in almost all the spheres of life: 
(A) Law of the Mob ANS. 
(B) Law of the underworld 
(C) Law of Parliament 
(D) Law of the Constitution. 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

117. Those persons who are ready to sail close to the wind can be successful in life: 
(A) To work hard (B) To be regular 
(C) To take risk ANS. (D) To manage his situation 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

118. His boss was always breathing down his neck: 
(A) Shouting loudly at him 
(B) Giving him strenuous work 
(C) Abusing and ill-treating him 
(D) Watching all his actions closely ANS. 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 



119. He believes in the policy of making hay while the sun shine: 
(A) Helping those who help him 
(B) Seeking advice from one and all 
(C) Giving bribes to get his work done 
(D) Making the best use of a favourable situation ANS. 

DIRECTIONS : In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose the 
one which best expresses the meaning of the given idiom or proverb. 

120. The trade union’s seemingly rightful demand is only a stalking horse to blackmail the management: 
(A) Pretence 
(B) Suggestions 
(C) Trick ANS. 
(D) Proposal 

121. In the passage, the word “choultry” should mean: 

(A) A free resting place ANS. 
(B) A roadside eating shop 
(C) A highway model. 
(D) An expensive hotel. 

Read the given passages carefully and answer the question following it. 

 Bansilal’s train was late and it reached Bombay a little after midnight. It was his first visit to the city, and he didn’t know where 
to go. He thought he would go to a choultry where he would not have to pay rent, but he did not know how to find one at that hour. He 
asked a porter to get him a cheap room. The porter said that if Bansilal gave him three rupees, he would take him to one. But Bansilal 
waved him away and walked out of the station. He wandered through the streets and asked a number of people, but could not find a 
room cheap enough for him. He sat down on a park bench to think what he should do next. He was very tired and fell asleep on the 
bench. He woke up the next morning stiff in every limb-but he smiled when he realized that it was the cheapest night’s lodging that he 
had ever had. 

122. The porter refused to help Bansilal because: 
(A) He had no previous acquaintance with the porter 
(B) He was rue to the porter 
(C) He refused to pay the porter any tips ANS. 
(D) He spoke a language which the porter could not understand. 

Read the given passages carefully and answer the question following it. 

 Bansilal’s train was late and it reached Bombay a little after midnight. It was his first visit to the city, and he didn’t know where 
to go. He thought he would go to a choultry where he would not have to pay rent, but he did not know how to find one at that hour. He 
asked a porter to get him a cheap room. The porter said that if Bansilal gave him three rupees, he would take him to one. But Bansilal 
waved him away and walked out of the station. He wandered through the streets and asked a number of people, but could not find a 
room cheap enough for him. He sat down on a park bench to think what he should do next. He was very tired and fell asleep on the 
bench. He woke up the next morning stiff in every limb-but he smiled when he realized that it was the cheapest night’s lodging that he 
had ever had. 

123. Bansilal could not get any accommodation for the night because: 

(A) All the hotel rooms were booked 
(B) The hotels were too expensive for him to afford ANS. 
(C) He wanted to spend the night in the open 
(D) All the hotels in the city were closed. 

Read the given passages carefully and answer the question following it. 

 Bansilal’s train was late and it reached Bombay a little after midnight. It was his first visit to the city, and he didn’t know where 
to go. He thought he would go to a choultry where he would not have to pay rent, but he did not know how to find one at that hour. He 
asked a porter to get him a cheap room. The porter said that if Bansilal gave him three rupees, he would take him to one. But Bansilal 
waved him away and walked out of the station. He wandered through the streets and asked a number of people, but could not find a 
room cheap enough for him. He sat down on a park bench to think what he should do next. He was very tired and fell asleep on the 



bench. He woke up the next morning stiff in every limb-but he smiled when he realized that it was the cheapest night’s lodging that he 
had ever had. 

124. The night long in the open: 

(A) Gave him aches all over his body ANS. 
(B) Refreshed Bansilal 
(C) Did not affect him at all 
(D) Made his limbs stronger 

Read the given passages carefully and answer the question following it. 

 Bansilal’s train was late and it reached Bombay a little after midnight. It was his first visit to the city, and he didn’t know where 
to go. He thought he would go to a choultry where he would not have to pay rent, but he did not know how to find one at that hour. He 
asked a porter to get him a cheap room. The porter said that if Bansilal gave him three rupees, he would take him to one. But Bansilal 
waved him away and walked out of the station. He wandered through the streets and asked a number of people, but could not find a 
room cheap enough for him. He sat down on a park bench to think what he should do next. He was very tired and fell asleep on the 
bench. He woke up the next morning stiff in every limb-but he smiled when he realized that it was the cheapest night’s lodging that he 
had ever had. 

125. From the passage, Bansilal emerges as: 
(A) An extravagant spender 
(B) A thrifty person ANS. 
(C) A fun-loving person 
(D) An adventure-seeking person 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

126. 
(A) Enterpreneur 
(B) Entrepreneur ANS. 
(C) Entrepreuner 
(D) Enterepreneur 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

127. 
(A) Bureaucracy ANS. 
(B) Bueraucracy 
(C) Bureucracy 
(D) Bureuacracy 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

128. 
(A) Vacume 
(B) Vaccum 
(C) Vacuum ANS. 
(D) Vaccume 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

129. 
(A) Disobadiance 
(B) Disobidiance 
(C) Disobedience ANS. 
(D) Desobideence 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

130. 
(A) Aknoledgement ANS. 
(B) Acknowledgement 
(C) Acknolegment 
(D) Aknolegdement  



DIRECTIONS: The following item suggests three possible ways of completing the sentence. One or more of these may be correct. 
Choose the correct way or ways of completing the sentence. 

131. We can learn much about philosophy with: 
(A) The help of the mathematics. 
(B) Help of the mathematics. 
(C) The help of mathematics. ANS. 
(D) None of these 

DIRECTIONS: The following item suggests three possible ways of completing the sentence. One or more of these may be correct. 
Choose the correct way or ways of completing the sentence. 

132. The new weapons were not: 
(A) Effective enough. ANS. 
(B) The effective enough. 
(C) An effective enough. 
(D) None of these 

DIRECTIONS: The following item suggests three possible ways of completing the sentence. One or more of these may be correct. 
Choose the correct way or ways of completing the sentence. 

133. Mr. Singh’s wife: 
(A) Has come yesterday 
(B) Came yesterday ANS. 
(C) Had come yesterday 
(D) None of these 

DIRECTIONS: The following item suggests three possible ways of completing the sentence. One or more of these may be correct. 
Choose the correct way or ways of completing the sentence. 

134. Had Gita come into the room she: 
(A) Saw the child eating the paper. 
(B) Would see the child eating the paper. 
(C) Would have seen the child eating the paper. ANS. 
(D) None of these 

DIRECTIONS: The following item suggests three possible ways of completing the sentence. One or more of these may be correct. 
Choose the correct way or ways of completing the sentence. 

135. While I was sleeping she: 
(A) Was playing the sitar. ANS. 
(B) Must have played the sitar. 
(C) Played the sitar. 
(D) None of these 

Read the given passages carefully and answer the question following it. 
             A.  There was a marked difference of quality between the personages who haunted the near bridge of brick of brick and the 
personages who haunted the far one of stone. Those of lowest character preferred the former, adjoining the town; they did not mind the 
glare of the public eye. They had been of no account during their successes; and though they might feel dispirited, they had no sense of 
shame in their ruin. Instead of sighing at their adversaries they spat, and instead of saying the iron had entered into their luck. The 
miserables who would pause on the remoter bridge were of a politer stamp – persons who did not know how to get rid of the weary 
time. The eyes of this species were mostly directed over the parapet upon the running water below. While one on the townward bridge 
did not mind who saw him so, and kept his back to the parapet to survey the passer-by one on this never faced the road, never turned 
his head at coming footsteps, but, sensitive to his own condition, watched the current whenever a stranger approached, as if some 
strange fish interested him, though every finned thing had been poached out of the river years before. 

136. The two bridges were known: 
(A) For attaching dejected people to them ANS. 
(B) For being equi-distant from town 



(C) For being haunted places. 
(D) For their similar design. 

Read the given passages carefully and answer the question following it. 
             A.  There was a marked difference of quality between the personages who haunted the near bridge of brick of brick and the 
personages who haunted the far one of stone. Those of lowest character preferred the former, adjoining the town; they did not mind the 
glare of the public eye. They had been of no account during their successes; and though they might feel dispirited, they had no sense of 
shame in their ruin. Instead of sighing at their adversaries they spat, and instead of saying the iron had entered into their luck. The 
miserables who would pause on the remoter bridge were of a politer stamp – persons who did not know how to get rid of the weary 
time. The eyes of this species were mostly directed over the parapet upon the running water below. While one on the townward bridge 
did not mind who saw him so, and kept his back to the parapet to survey the passer-by one on this never faced the road, never turned 
his head at coming footsteps, but, sensitive to his own condition, watched the current whenever a stranger approached, as if some 
strange fish interested him, though every finned thing had been poached out of the river years before. 

137. People belonging to the lower strata, in their moments of distress: 

(A) Felt ashamed of their failures 
(B) Dressed shabbily to earn sympathy 
(C) Visited the brick-made bridge. 
(D) Remembered their days of glory. ANS. 

Read the given passages carefully and answer the question following it. 
             A.  There was a marked difference of quality between the personages who haunted the near bridge of brick of brick and the 
personages who haunted the far one of stone. Those of lowest character preferred the former, adjoining the town; they did not mind the 
glare of the public eye. They had been of no account during their successes; and though they might feel dispirited, they had no sense of 
shame in their ruin. Instead of sighing at their adversaries they spat, and instead of saying the iron had entered into their luck. The 
miserables who would pause on the remoter bridge were of a politer stamp – persons who did not know how to get rid of the weary 
time. The eyes of this species were mostly directed over the parapet upon the running water below. While one on the townward bridge 
did not mind who saw him so, and kept his back to the parapet to survey the passer-by one on this never faced the road, never turned 
his head at coming footsteps, but, sensitive to his own condition, watched the current whenever a stranger approached, as if some 
strange fish interested him, though every finned thing had been poached out of the river years before. 

138. The bridge of stone was frequented by: 

(A) All the sections of society 
(B) The sophisticated but luckless 
(C) Those fond of fishing 
(D) None of the above. ANS. 

Read the given passages carefully and answer the question following it. 
             A.  There was a marked difference of quality between the personages who haunted the near bridge of brick of brick and the 
personages who haunted the far one of stone. Those of lowest character preferred the former, adjoining the town; they did not mind the 
glare of the public eye. They had been of no account during their successes; and though they might feel dispirited, they had no sense of 
shame in their ruin. Instead of sighing at their adversaries they spat, and instead of saying the iron had entered into their luck. The 
miserables who would pause on the remoter bridge were of a politer stamp – persons who did not know how to get rid of the weary 
time. The eyes of this species were mostly directed over the parapet upon the running water below. While one on the townward bridge 
did not mind who saw him so, and kept his back to the parapet to survey the passer-by one on this never faced the road, never turned 
his head at coming footsteps, but, sensitive to his own condition, watched the current whenever a stranger approached, as if some 
strange fish interested him, though every finned thing had been poached out of the river years before. 

139. The attitude of the lowly and genteel towards strangers was: 

(A) Virulently hostile 
(B) Completely indifferent 
(C) Entirely different ANS. 
(D) Virtually the same 



Read the given passages carefully and answer the question following it. 
             A.  There was a marked difference of quality between the personages who haunted the near bridge of brick of brick and the 
personages who haunted the far one of stone. Those of lowest character preferred the former, adjoining the town; they did not mind the 
glare of the public eye. They had been of no account during their successes; and though they might feel dispirited, they had no sense of 
shame in their ruin. Instead of sighing at their adversaries they spat, and instead of saying the iron had entered into their luck. The 
miserables who would pause on the remoter bridge were of a politer stamp – persons who did not know how to get rid of the weary 
time. The eyes of this species were mostly directed over the parapet upon the running water below. While one on the townward bridge 
did not mind who saw him so, and kept his back to the parapet to survey the passer-by one on this never faced the road, never turned 
his head at coming footsteps, but, sensitive to his own condition, watched the current whenever a stranger approached, as if some 
strange fish interested him, though every finned thing had been poached out of the river years before. 

140. In this passage, the author is trying to: 

(A) Explain the variety of ways in which strangers can be treated 
(B) Describe how people of different classes behaved when unhappy ANS. 
(C) Explain the difference between the construction of two bridges 
(D) Describe the way different sections of people like to dress. 

 

141. Opposite of "FRESH" 
(A) Hot 
(B) Stale ANS. 
(C) Cold 
(D) New 

142. Opposite of "CONVICT" 
(A) Accused 
(B) Guilty 
(C) Acquit ANS. 
(D) Criminal 

143. The superlative of "BAD" 
(A) Baddest 
(B) Worse 
(C) Worst ANS. 
(D) The Most Bad 

144. "Governor" shall be addressed: 
(A) Excellency ANS. 
(B) Lordship 
(C) Highness 
(D) Majesty 

DIRECTIONS: In each of the following questions, choose the word opposite in meaning to the given word. 

145. Curtail: 
(A) Shorten 
(B) Lengthen ANS. 
(C) Express 
(D) Narrow 

DIRECTIONS: In each of the following questions, choose the word opposite in meaning to the given word. 

146. Reprimand: 
(A) Quarrel 
(B) Rebuke 
(C) Hate 
(D) Praise ANS. 

DIRECTIONS: In each of the following questions, choose the word opposite in meaning to the given word. 



147. Heavy: 
(A) Light ANS. 
(B) Tough 
(C) Dark 
(D) Loaded 

DIRECTIONS: Select the most suitable preposition from the four choices given for each sentence. 

148. Sita is born ............ rich parents: 
(A) For 
(B) Of ANS. 
(C) From 
(D) On 

DIRECTIONS: Select the most suitable preposition from the four choices given for each sentence. 

149. He insists ............ leaving immediately: 
(A) Against 
(B) Over 
(C) For 
(D) On ANS. 

DIRECTIONS: A phrase or idea is described in each question followed by four single word choices. Pick the choice which best explains 
the idea/phrase. 

150. A person who does not speak too much: 

(A) Candid 
(B) Outspoken 
(C) Reticent ANS. 
(D) Defiant 

 

Read the given passages carefully and answer the question following it. 

 Bansilal’s train was late and it reached Bombay a little after midnight. It was his first visit to the city, and he didn’t know where 
to go. He thought he would go to a choultry where he would not have to pay rent, but he did not know how to find one at that hour. He 
asked a porter to get him a cheap room. The porter said that if Bansilal gave him three rupees, he would take him to one. But Bansilal 
waved him away and walked out of the station. He wandered through the streets and asked a number of people, but could not find a 
room cheap enough for him. He sat down on a park bench to think what he should do next. He was very tired and fell asleep on the 
bench. He woke up the next morning stiff in every limb-but he smiled when he realized that it was the cheapest night’s lodging that he 
had ever had. 

 

INSTRUCTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

151. 
(A) Grammatical ANS. 
(B) Gramatical 
(C) Grammetical 
(D) Grammitical 

DIRECTIONS: In the following question pick the wrong spelt word. 

152. 
(A) Implement 
(B) Akward ANS. 
(C) Immolate 
(D) Average 

DIRECTIONS: In the following question pick the wrong spelt word. 

153. 
(A) Peripheral 
(B) Permeable 



(C) Audiance ANS. 
(D) Perquisite 

DIRECTIONS: In the following question pick the wrong spelt word. 
154. 

(A) Servent ANS. 
(B) Delinquent 
(C) Abeyance 
(D) Emolument 

DIRECTIONS: In these question fill in the blanks in the sentence with correct option. 

155. They still think that women are inferior ........ men: 
(A) To ANS. 
(B) Than 
(C) From 
(D) By 

DIRECTIONS: In these question fill in the blanks in the sentence with correct option. 

156. The teacher was angry .......... me: 
(A) To 
(B) Upon 
(C) At ANS. 
(D) Against 

DIRECTIONS: In these question fill in the blanks in the sentence with correct option. 

157. If you ........ ice in warm water, it soon melts: 
(A) Will place 
(B) Place ANS. 
(C) Would place 
(D) Placed 

DIRECTIONS: In these question fill in the blanks in the sentence with correct option. 

158. When the post .........., I will bring it to your office: 
(A) Will arrive 
(B) Arrives ANS. 
(C) Is arriving 
(D) Is going to arrive 

159. Opposite of "SMART" 
(A) Lazy ANS. (B) Active 
(C) Fair (D) Casual 

160. Opposite of "DREADFUL" 
(A) Amiable 
(B) Pleasant ANS. 
(C) Comfortable 
(D)  Gratifying 

 

DIRECTIONS: Find out the correctly spelt word. 

161. 
(A) Congratulasion 
(B) Congretulation 
(C) Congrachulation 
(D) Congratulation ANS. 

DIRECTIONS: Find out the correctly spelt word. 

162. 



(A) Deligation 
(B) Delegation ANS. 
(C) Deligasion 
(D) Delegetion 

DIRECTIONS: Find out the correctly spelt word. 

163. 
(A) Invention ANS. 
(B) Invension 
(C) Inventon 
(D) Inventeon 

DIRECTIONS: Find out the correctly spelt word. 

164. 
(A) Mathemeticion 
(B) Mathematicion 
(C) Mathematicion 
(D) Mathematician ANS. 

DIRECTIONS: Find out the correctly spelt word. 

165. 
(A) Maintenance ANS. 
(B) Maintinance 
(C) Maintenence 
(D) Mantenance 

DIRECTIONS: Find out the correctly spelt word. 

166. 
(A) Guardion 
(B) Guardian ANS. 
(C) Guardien 
(D) Guardain 

DIRECTIONS: Find out the correctly spelt word. 

167. 
(A) Electrification ANS. 
(B) Electrifecation 
(C) Electrificasion 
(D) Electrefication 

168. Superlative of Good and opposite of worst is: 
(A) Best ANS. 
(B) Better 
(C) Bad 
(D) Worse 

DIRECTIONS: Fill in the blanks. 

169. NUM _ R _ T _ R 
(A) E, A, O ANS. 
(B) A, E, O 
(C) O, A, E 
(D) U, A, O 

DIRECTIONS: Fill in the blanks. 

170. D _ V _ D _ ND 
(A) I, I, E ANS. 
(B) E, I, E 



(C) E, I, I 
(D) E, E, I 

 

DIRECTIONS: Fill in the blank in the following using the correct article. 

171. I met ............ one eyed man on the road: 
(A) A ANS. 
(B) An 
(C) The 
(D) None of these 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

172. The father was concerned ............. the safety of his child: 
(A) About ANS. 
(B) At 
(C) For 
(D) Upon 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

173. The reward should be commensurate ............. the work done: 
(A) For (B) On 
(C) With ANS. (D) Of 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

174. He comes to school daily ........ 07:00 a.m. 
(A) At ANS. 
(B) Upon 
(C) On 
(D) In 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

175. I bought this book ........ ten rupees: 
(A) In 
(B) At 
(C) For ANS. 
(D) By 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

176. He is very ashamed ........ what he said: 
(A) For 
(B) By 
(C) At 
(D) Of ANS. 

INSTRUCTIONS: Fill the sentence with appropriate preposition. 

177. Don't look ........ me like that! 
(A) To 
(B) At ANS. 
(C) For 
(D) Upon 

DIRECTIONS: Find out the correctly spelt word. 

178. 
(A) Administration ANS. 
(B) Admenistration 
(C) Administretion 



(D) Administrasion 

DIRECTIONS: Find out the correctly spelt word. 

179. 
(A) Annivarsary 
(B) Anniversary ANS. 
(C) Anneversary 
(D) annivarsery 

DIRECTIONS: Find out the correctly spelt word. 

180. 
(A) Multiplication ANS. 
(B) Multiplecation 
(C) Multiplicasion 
(D) Maltiplication 

 

DIRECTIONS: Choose the word which is most opposite in meaning as given word in bold. 

181. BARBARIAN– 
(A) Heroic (B) Civilised ANS. 
(C) Nationalist (D) Foreigner 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

182. Did no one ........ him: 
(A) Had help 
(B) Helped 
(C) Have help 
(D) Help ANS. 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

183. When I met him, he ........ eating a banana: 
(A) Is 
(B) Has been 
(C) Was ANS. 
(D) Had been 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

184.  Teacher: Have you done your home-work? 
Student: Yes, Sir. I ........: 
(A) Have done it ANS. 
(B) Did it 
(C) Had done it 
(D) Did not do it 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

185. The boys are perspiring. They ........ tennis for two hours: 
(A) Were playing 
(B) Have been playing ANS. 
(C) Had been playing 
(D) Are playing 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

186. They went home after they ........ their home work: 
(A) Have finished 
(B) Did finish 
(C) Had finished ANS. 
(D) Finish 



DIRECTIONS:– Choose the correct alternative to complete the sentence. 

187. I ........ be fifty next birth day: 
(A) Would (B) Will 
(C) Should (D) Shall ANS. 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

188. By the end of this year I ........ have read six plays of Shakespeare: 
(A) Shall ANS. 
(B) Should 
(C) Will 
(D) Would 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

189. This child ........ if the train had not stopped quickly: 
(A) Will have been killed 
(B) Would have been killed ANS. 
(C) Had been killed 
(D) Had had been killed 

DIRECTIONS:– Choose the correct alternative to complete the sentence. 

190. I ........ that you have bought some new books: 
(A) Am seen 
(B) Am seeing 
(C) Have seen 
(D) See ANS. 

 

191. Opposite of debtor: 
(A) Creditor ANS. 
(B) Lessee 
(C) Owner 
(D) Messenger 

192. Which of the following will sting? 
(A) Dog 
(B) Scorpion ANS. 
(C) Cat 
(D) Lizard 

DIRECTIONS: In each of the following question, six words are given denoted by A, B, C, D, E & F. By using the six words each only 
once, you have to frame a meaningful and grammatically correct sentence. The correct order of words is your answer. Choose from the 
four alternatives the one having correct order of the words. Mark it as your answer on the answer sheet. 
193. 

A. Work D. Other 
B. There E. Today 
C. No F. Is 

(A) DAFEBC 
(B) BFCDAE ANS. 
(C) CDABFE 
(D) BFACDE 

DIRECTIONS: In each of the following question, six words are given denoted by A, B, C, D, E & F. By using the six words each only 
once, you have to frame a meaningful and grammatically correct sentence. The correct order of words is your answer. Choose from the 
four alternatives the one having correct order of the words. Mark it as your answer on the answer sheet. 

194. 
A. Name D. Asked 
B. They E. Me 



C. My F. Correct 

(A) CFABDE (B) BDCFAE 
(C) BDECAF (D) None of these ANS. 

DIRECTIONS: Choose the word which is most nearly the same in meaning as the word given in bold. 

195. ENOUGH: 
(A) Adequate ANS. (B) Inadequate 
(C) Complete (D) Balance 

DIRECTIONS: Choose the word which is most nearly the same in meaning as the word given in bold. 

196. DEDICATED: 
(A) Devoted ANS. (B) Loyal 
(C) Sincere (D) Submissive 

DIRECTIONS: Pick out the most effective word from the given words to fill in the blank to make the sentence meaningfully complete. 

197. If I ......... the prime minister of India, I would do things differently: 
(A) am (B) is 
(C) were ANS. (D) was 

DIRECTIONS: Pick out the most effective word from the given words to fill in the blank to make the sentence meaningfully complete. 

198. Barking dogs seldom .........: 
(A) Bite ANS. (B) Bites 
(C) Eat (D) Pet 

DIRECTIONS: Choose the word which is most opposite in meaning as given word in bold. 

199. ETERNAL– 
(A) Momentary ANS. (B) Everlasting 
(C) Continual (D) Endless 

DIRECTIONS: Choose the word which is most opposite in meaning as given word in bold. 

200. RECREATION– 
(A) Boredom ANS. (B) Entertainment 
(C) Joy (D) Diversion 


